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connecting 2 pieces of wood

= Bolt — connecting 2 pieces of wood

F end piece of wood,
hote 4x2,
The 4” side is vertical

The 2” side is horizontal

2.7 mtrs

A Ill:l ° — Illl}
. . ‘ 4
X X X
XTT
T || Rearpieceofwood — — — T T~~~ T]] . \j-
2.4 P >
mtrs b i
1 mtr 2
< mtrs
1.05 mtr
w
v ke b o bl X '\‘{Z‘I‘ E|'X" "X£|' !
——————— 2 e (- T T T T TT T T o oo T T

x4’s

ast updated 27/10/06

Note filler piece of wood between horizontails.
This is to hang door on
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Roof framing

It is vitally important to ensure this roof framing is to this size so as the polycarbonate
sheets of 3000mmx1250mm sheets fit without any additional trimming
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Horizontal
bearers on
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Roof frame 10 mm short at
front and rear to allow
overhang of poly carb

for protection

And at rear to allow water
to drip down in to gutter
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Vault door Plan

Vault door of wood, note 2 pieces one fits inside, one on the outside

Vault breeze blocks
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